Math 001-08, Quiz 4 (1.4 and 1.6), Term 152, Instructor: Sayed Omar, Pagel 20-Mar-16
Serial #: ID NAME
Show all necessary steps for full marks.

Question 1: (5 points) (1.4 Textbook Exercise 48):
(a): After completing the square inthe 3x*—9x +7=0, we get (x —a)*=b.Find a+b =2
(b): Use completing the square to find the solution set of 3x > —9x +7 =0.
Solution: (a):
48. 37 -9x=-7
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Question 2: (5 points) (1.4 Texthook Exercise 60): Find the solution set of EX 2+ ZX =3

Solution:
60.  Ix’+1lx=3
12(25% +4x)=12:3
8x? +3x =36

8x” +3x—36=0
let a=8.b=3.and c = -36.

—b++/b* —dac
X =
2a
323 -4(8)(536) 3+ 971152
- 2(8) - 16
_ 341161 —3£34/129
B 16 N 16
Solution set: {%}
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Another Method by completing the square: Multiply both sides by 12:
8x > +3x =36

3 9
X2 +— =—
2
5 +(i5) -3
X2 +=X +
8 2 162
2
« 5| _90)16)+9
16 167
2
« Lo e+
16 167
2 o[128+1]
X+— | =———
16 16°
2
L3 _9a29)
16 162
.3 [oaz9)
16 167
_ 3 ,3J129 -3+3/129
16~ 16 16

. . _ . ) 3
Question 3: (5 points) (1.6Textbook exercise 22): Find the solution set of 6 =

x -3 (2x —3)°
Solution: Multiply both sides by LCD (2x —3)*:
6(2x —3)2=7(2x —3)+3

6(2x —3)2-7(2x —=3)-3=0

6u’—7u—-3=0 where u=2x -3

2u -3

3u +1

(2u —3)(3u +1) =0

2X —3=

2X =3+— or 2X :3—l

Njw N w

2X :g or 2x =
2
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4
X=— 0r X=—
4 3

SS :{g,ﬁ}
4'3

Another Method:

2 6ol 3 :
2x=3  (2x-3)

Multiply each term in the equation by the least

,
common denominator, (2):—3) . assuming

6(4x% —12x+9)=7(2x-3)+3
24x* —T2x+54=14x—-21+3
24x* —T72x+54=14x—18
24x? —86x+72=0
2(|2x3—43x+ 3&):0:}2(4,1:—9)(3,1:—4):0

Ax-9=0=x=2 or 3x—-4=0= x=

4
4 3

The restriction x == does not affect the result.

Therefore. the solution set 1s {%%}
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Question 4: (5 points) (1.6Textbook exercise 84): Solve (X +5)*° +(x +5)"*-20=0.

Solution:
84, (x+5"7 +(x+5"-20=0

Let u= [:J.'+5:]H3 then,

o =] (r+5)" ] = (xes)".

W +u—-20=0=(u+5)(u-4)=0=
Hu=—S5Soru=4

To find x, replace u with (x+ 5]”3.

3
(x+3) =-5= [(,r+5j”3} = (-5’
X1+5=-125=x=—130or
3
(x+ 5]”3 =4= [{r - 5]“3} =4 =
X+5=64=x=59
Solution set: {—=130, 59}
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